ASTRONOMY 1102 - Section 1

Instructor: Juhan Frank
Spring 19399
Homewaork # 2 due Fri. Jan. 2%

188 Radiation & Doppler IXifect

1) The ligure shows two low dansity hol clouds of Hydragen (H) and Helium (Ha)
and a very hot filament . Describe brigfly tha kind of spectrum seen by looking
alang the lines indicated in the figure with 2 speciroscope.
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2) The spead of sound in air is 330 m's. A Irain moving at 8 speed of 33 m's e B
(approximalely 74 mithr) sounds its whiglle, which has a (trua) frequency of o= 3Am
RO0 Hz cormesponding lo a tree wavelenglh {Irain+whistle at rest) ol

i, yua = BB cm. Answer lhe following quastions. = Ui = Ol
a) Az he train comes toward you what is tha apparent wavelengih (the ana you

hear)? B emita T Gl S Al = bW TowARR B BLoELAMY
Circle the correct answar: |s 1hal crwar frequancy [pitch)? el = (L6 -G8

TORON .

b) Ahtar passing you, the Irmin now 3pesds away. What is the apparom
wavetenglh now (the ona you hear}? Aoky = (GL+E L]
Circle tha corract answer: 15 that a higher requancy (pitch]?



